



## ON HOMOGENEOUS CUBIC EQUATION WITH THREE UNKNOWNNS

$$x^2 - y^2 + z^2 = 2kxyz$$

**M.A.GOPALAN, S. VIDHYALAKSHMI, N.THIRUNIRAISELVI**

Department of Mathematics, Shrimati Indira Gandhi College, Tiruchirappalli

---



**N.THIRUNIRAISELVI**

*Author for Correspondence*

Article Info:

Article received :19/09/2013

Revised on:28/10/2013

Accepted on:30/10/2013

### ABSTRACT

The homogeneous cubic equation with three unknowns represented by the diophantine equation  $x^2 - y^2 + z^2 = 2kxyz$  is analyzed for its patterns of non – zero integral solutions. A few interesting properties among the solutions are presented.

**Key words:** Cubic equation with three unknowns, integral solutions

**M.Sc 2000** Mathematics Subject Classification:11d25

---

### INTRODUCTION

The Diophantine equations offer an unlimited field for research due to their variety [1-3]. In particular, one may refer [4-19] for cubic equations with three unknowns. This communication concerns with yet another interesting equation  $x^2 - y^2 + z^2 = 2kxyz$  representing homogeneous cubic equation with three unknowns for determining its infinitely many non-zero integral points. Also, a few interesting relations among the solutions are presented.

### METHOD OF ANALYSIS

The Diophantine equation representing the cubic equation with three unknowns under consideration is  $x^2 - y^2 + z^2 = 2kxyz$

(1)

The substitution of linear transformations

$$x = u + v, y = 2k, z = u - v$$

(2)

in (1) leads to

$$(2k^2 + 1)v^2 - (2k^2 - 1)u^2 = 2k^2$$

(3)

The assumption

$$u = X + (2k^2 + 1)T, v = X + (2k^2 - 1)T$$

(4)

in (3) implies

$$X^2 = (4k^2 - 1)T^2 + k^2$$

which is satisfied by

$$X_n = \frac{1}{2k^{n-1}} [(2k^3 + k\sqrt{4k^4 - 1})^n + (2k^3 - k\sqrt{4k^4 - 1})^n]$$

$$T_n = \frac{1}{2k^{n-1}\sqrt{4k^4 - 1}} [(2k^3 + k\sqrt{4k^4 - 1})^n - (2k^3 - k\sqrt{4k^4 - 1})^n] \tag{5}$$

In view of (5),(4),(3) and (2), the corresponding non-zero integral solutions of (1) are given by

$$x_n = \frac{f_n}{k^{n-1}} + \frac{2g_n}{k^{n-3}\sqrt{4k^4 - 1}}$$

$$y_n = 2k \quad n=1,2,3,\dots$$

$$z_n = \frac{g_n}{k^{n-1}\sqrt{4k^4 - 1}}$$

Where

$$f_n = [(2k^3 + k\sqrt{4k^4 - 1})^n + (2k^3 - k\sqrt{4k^4 - 1})^n]$$

$$g_n = [(2k^3 + k\sqrt{4k^4 - 1})^n - (2k^3 - k\sqrt{4k^4 - 1})^n]$$

A few interesting properties observed are as follows

- $x_n = z_{n+1}$
- $x_{n+2} - 4k^2x_{n+1} + x_n = 0$
- $x_n - 2k^2z_n \equiv 0 \pmod{k}$
- $x_n - 2k^2z_n + y_n \equiv 0 \pmod{k}$
- Each of the following properties represents a nasty number
  - (i)  $6k\{x_{2n+1} - 2k^2z_{2n+1} + 2k\}$
  - (ii)  $6k(x_{2n+1}) - 12k^3z_{2n+1} + 6ky_{2n+1}$
- $k^2x_{3n+2} - 2k^4z_{3n+2} + 3k^2(x_n - 2k^2z_n)$  is a cubical integer
- $k^3\{(x_{4n+3} - 2k^2z_{4n+3}) + 4(x_{2n+1} - 2k^2z_{2n+1} + y_{2n+1}) + 2\}$  is a bi-quadratic integer

**NOTE:** Instead of (4), one may also consider  $u = X - (2k^2 + 1)T, v = X - (2k^2 - 1)T$ .

For this choice, the corresponding integer solutions are found to be

$$x_n = \frac{f_n}{k^{n-1}} - \frac{2g_n}{k^{n-3}\sqrt{4k^4 - 1}}$$

$$y_n = 2k$$

$$z_n = \frac{-g_n}{k^{n-1}\sqrt{4k^4 - 1}}$$

**CONCLUSION**

To conclude, one may search for other patterns of solutions and their corresponding properties.

**REFERENCES**

[1] Dickson. I. E."History of Theory of Numbers ", Vol 2. Diophantine analysis, New York,Dover,2005.  
 [2] Mordell .L.J., " Diophantine Equations" Academic Press,New York,1969.  
 [3] Carmichael .R.D."The Theory of numbers and Diophantine Analysis ",New York,Dover,1959.

- 
- [4] M.A.Gopalan, Manjusomanath and N.Vanithe, On Ternary cubic equation  $x^2 - y^2 = z^3$ , Acta Ciencia Indica, Vol XXXIIIM, No-3, 705-707, 2007.
- [5] M.A.Gopalan and G.Sangeetha On The Ternary Cubic Diophantine Equation  $y^2 = Dx^2 + z^3$  Archimedes J.Math, 1(1), 7-14, 2011.
- [6] M.A.Gopalan, A.Vijayasankar, S.Vidhyalakshmi Integral Solutions of Ternary Cubic Equation  $x^2 + y^2 - xy + 2(x + y + 2) = (k^2 + 3)z^2$  Archimedes J.Math, 1(1), 59- 65, 2011.
- [7] M.A.Gopalan and G.Srividhya, integral solutions of the ternary cubic Diophantine equation  $x^2 + y^2 = z^2$  Acta Ciencia Indica, Vol XXXVIIM, No-4, 805-808, 2011.
- [8] M.A.Gopalan and V.Pandiselvi, observations on the ternary cubic equation  $x^3 + y^3 + x^2 - y^2 = 4(z^3 + z^2)$  Archimedes J.Math, 1(1), 31-37, 2011.
- [9] M.A.Gopalan and R.Vijayalakshmi, integral solutions of ternary cubic equation  $x^3 + y^3 + 16(x + y) = 16z^3$  Antarctica J.Math., 9(7), 607-612, 2012
- [10] M.A.Gopalan and B.Sivakami, On the ternary cubic equation  $2xz = y^2(x + z)$  Bessels J.Math., 2(3), 171-177, 2012.
- [11] M.A.Gopalan and B.Sivakami, Integral Solutions of Ternary Cubic Equation  $4x^2 - 4xy + 6y^2 = [(k + 1)^2 + 5]w^3$  Impact J.Sci.Tech., Vol 6, No.1, 15-22, 2012.
- [12] M.A.Gopalan, S.Vidhyalakshmi, S.Mallika., On the ternary non-homogeneous cubic equation  $x^3 + y^3 - 3(x + y) = 2(3k^2 - 2)z^3$  Impact J.Sci.Tech., Vol 7, No.1, 41- 45, 2013.
- [13] M.A.Gopalan, S.Vidhyalakshmi, K.Lakshmi., Lattice points on the non-homogeneous cubic equation  $x^3 + y^3 + z^3 - (x + y + z) = 0$  Impact J.Sci.Tech., Vol 7, No.1, 51-55, 2013.
- [14] M.A.Gopalan, S.Vidhyalakshmi, K.Lakshmi., Lattice points on the non-homogeneous cubic equation  $x^3 + y^3 + z^3 + x + y + z = 0$  Impact J.Sci.Tech., Vol 7, No.1, 21-25, 2013.
- [15] M.A.Gopalan, S.Vidhyalakshmi, A.Kavitha, Observation On The Ternary Cubic Equation  $x^2 + y^2 + xy = 12z^3$  Antarctica J.Math., 10(5), 453-460, 2013.
- [16] M.A.Gopalan and K.Geetha, On the ternary cubic diophantine equation  $x^2 + y^2 - xy = z^3$  Bessels J.Math., 3(2), 119-123, 2013.
- [17] S.Vidhyalakshmi, M.A.Gopalan, A.Kavitha Observations on the ternary cubic equation  $x^2 - xy + y^2 = 7z^3$  International Journal of Computational Engineering Research, Vol 3, Issue 5, 17-22, May 2013.
- [18] M.A.Gopalan, S.Vidhyalakshmi, G.Sumathi On The Ternary Cubic Diophantine Equation  $x^3 + y^3 + z(x^2 + y^2 - 20) = 4(x + y)^2 z$  Impact J. Sci. Tech., Vol 7, No-2, 01-06, 2013.
- [19] S.Vidhyalakshmi, T.R.Usharani, M.A.Gopalan, Integral Solutions Of Non-Homogeneous Cubic Equation  $ax^2 + by^2 = (a + b)z^3$  Diophantine J.Math., 2(1), 31-38, 2013.
-